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§2. BROBE
§3. MHEBIEOFER
§4. 750 - F7HIK
§1. % i
1) &
WAL TORHBOBIGAMAT D LM R A IR 5 LT 2 b LI v, b5 IF ~ THEN ~
ELSE ~ O¥BECIHRELIGTE D, o,
500 *DISPCONDITION
510 FOR P=-1 TO 0 : FOR Q=-1 TO O
530 IF (NOT(P) OR Q)=-1 THEN PRINT ” P=";AKCNV$(RIGHTS(STRS$(P),1));
»  Q=";AKCNV$(RIGHT$(STR$(Q),1))
540 NEXT Q : NEXT P
570 RETURN
i)
RUN
P==)Q MNEOBEEESEDMD
1 Q=1
0 Q=1
0 Q=0

1

P
P
P

I

Ok
RERIVHILED.
@) WA
BASIC 707 7 s EFSRTHT, 2HOBAL SHULEOHAOBE., HB L0 TUHALEET D
BENDHDH & hlo1z
2HOBE
440 *GCMSUB1
450 IF AA=0 OR BB=0 THEN GCM-=1 : RETURN
460 IF AA(BB THEN SWAP AA,BB
470 «LOOP : RR=AA-(AA ¥ BB)+BB
480 IF RR=0 THEN GCM=BB : RETURN
490 IF RR{)0 THEN AA-BB:BB=RR : GOTO «LOOP

500 RETURN
e ]
RUN
Old Set = (-1734 , 2652 ) ==) New Set = (-17 , 26 )
GCM = 102 the time needed = 0
T, 1BLUHTETT%.
3B EoBE
440 xGETGCM
450 FOR J=1 TO N
460 AA=GCM:BB=AR())
470 IF AA(-BB THEN SWAP AA,BB
480 IF BB=0 THEN GCM=AA: GOTO *BRK

49  +LOOP : RR-AA-(AA ¥ BB)+BB
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500 IF RR=0 THEN GCM=BB : GOTO *BRK
510 [F RR(0 THEN AA=BB:BB=RR : GOTO *LOOP

520 *BRK
530 NEXT ]
540 RETURN
]
RUN
Old Set = ( 1239 ,-777 , 1281 ,-483 )
==) New Set = ( 569 ,-37 , 61 ,-23 )

GCM =121
the time needed = 0 sec
Ok

TIBLURTHb D, 7ok, 3R EOBRRAIBIRFIER Y FVv-5 OB TH B,

@) I 7

n EOCFONASWER AR R 5 28, & C TS T 51012 4 XFEOEFIZ RS TR,

460 +PERMUTATION
470 FOR I=1 TO N : FOR J-1 TO N
49  IF J<I THEN GOTO *BRK]
500  FOR K=1 TO N

510 IF K=I OR K=J THEN GOTO *BRKK

520 FOR L-1 TO N

530 IF 1= OR L=J OR L=K THEN GOTO *BRKL

540 IF SG+(L-K)*(L-D*(L-D*(K-D*(K-D*(J-1)»0 THEN CN=CN+1 :
PRINT STRS$(D);STR$(J); STRS(K);STRS(L);” 7;

550 *BRKL : NEXT L

560 *BRKK : NEXT K

570 IF (CN MOD 6)=0 THEN PRINT

580 +«BRKJ : NEXT J : NEXT I
600 RETURN
HETTEE
RUN
BN Z
1234 1342 1423 2143
3124 3241 3412 4132
LA
1243 1324 1432 2134
3142 32114 3421 4123
the time needed = 2
(@) HERXD7 77
HBAD T 5 7%
1) AR
x=¢(t), y=¢(t) (a=t=<b)
2) [EBagFES
F(x,y)=0
D2ODBETFFTTEL D,

2314
4213

2341
4231

2431
4321

2413
4312
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Hl B y={(x) @asx<b) ik

x=t
{ (agt=h)

y=£(t)
BA% r=1(0) (a=0=b) 12
x=f(f) cosf
{ (a<8<b)
y=1f(#)sin

LLTHRY CENTE D, BB X®2—xy+y2=1 TY
x=(2/v/ 3)cosd
{ y=(1/43) cos §+sin @
g, BAERFEROBHCIETED L0 H D,
1) DBHIT
100 RS=RATE_SPREAD : A=X_ORIGIN : B=Y_ORIGIN : SP=STEP.WIDTH
110 DEF FNF(T)=F(T) : DEF FNG(T)=G(T)
120 FOR T=M TO N STEP SP
130 X=A+RS«FNF(T) : Y=B-RS«FNG(T) : PSET (X,Y),6
150 NEXT T
2) DHEE
100 RS=RATE_SPREAD : A=X_ORIGIN : B=Y_ORIGIN : SP=STEP_WIDTH
110 DEF FNF(X,Y)=F(X,Y)
120 FOR X=M TO N STEP SP : FOR Y-P TO Q STEP SP

(0=6<2x)

140 FR=FNF(X,Y) : FX=FNF(X+SP,Y) : FY=FNF(X,Y+SP)
150 IF FR*FY{0 THEN PSET (RS#X+A,B-RS+(Y-FR+SP/(FY-FR))),6
160 IF FR+FX(0 THEN PSET (A+RSx(X-FR+SP/(FX-FR)),-RS*Y+B),6

170 NEXT Y : NEXT X
CLoTEDT I 7% ENTE S,
SEFTRRE) - HEHBEL S0V L, BRI E BEIS Y (S TR TREREIC R E MR TE L, ik
i, 75 7 OBEE y=x B L CORFRBEIC OV Tk
100 RS=RATE_SPREAD : A-X_ORIGIN : B=Y_ORIGIN : SP=STEP_WIDTH
110 DEF FNF(T)=F(T) : DEF FNG(T)=G(T)
120 FOR T-M TO N STEP SP
130 X1=A+RS*FNF(T) : Y1=B-RS*FNG(T) : PSET (X1,Y1),6
140  Y2=A+RS*FNG(T) : X2=B-RS+FNF(T) : PSET (Y2,X2),5
150 NEXT T
KXo TEDYT 7 7 %8I L,
xy-EEE, oW TRP LOFELALETH S, Hi—L T
350 *DISPPLANE

360 LINE (A-2.5¢RS,B)-(A+3.5+RS,B) 2 x O

370 LINE (A+3.5+RS,B)-STEP(-4,~4 ) : LINE (A+3.5+RS,B)-STEP(-4,4)
400 LINE (A,B-2+RS)-(A,B+RS) 2y BhoTE

410 LINE (A,B-2+RS)-STEP(-4,4) : LINE (A,B-2+RS)-STEP(4,4)

440 CIRCLE (A-10,B+10), 5,,,,1.5 0 A B X AT

450 RETURN

X T ETHT X,
B r2=cos(260)
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330 «DISPCURVE

340 DEF FNF(T)=COS(T)/(1+SIN(T)*SIN(T))

350  DEF FNG(T)=SIN(T)*COS(T)/(1+SIN(T)+SIN(T))
360 FOR T=0 TO 2«PI STEP SP

370 X=A+RS+FNF(T) : Y=B-RS*FNG(T) : PSET (X,Y),6
390 NEXT T
430 RETURN

#l x2—xy+y2=1 D357
390 *xDISPCURVEL
400  DEF FNF(X,Y)=X"2-XxY+Y"2-1
410 FOR X=-1.16 TO 1.16 STEP SP : FOR Y=-1.16 TO 1.16 STEP SP

430 FR=FNF(X,Y) : FY-FNF(X,Y+SP) : FX=FNF(X+SP,Y)
440 IF FR+FY{0 THEN PSET (A+RS*X,B-RS*(Y-FR+SP/(FY-FR))),6
450 IF FR+FX{0 THEN PSET (A+RS*(X-FR*SP/(FX-FR)),B-RS«Y),6

460 NEXT Y : NEXT X

480 RETURN

490

500 +DISPCURVEZ

510 DEF FNF(T)=(2/SQR(3))*COS(T) : DEF FNG(T)=(1/SQR(3)*COS(T)+SIN(T)
530 FOR T=0 TO 2+PI STEP .5+SP

540 X=A+RS*FNF(T) : Y=B-RS«FNG(T) : PSET (X,Y),6
560 NEXT T
570 RETURN

§2. BB OB X
Y 3D R UEFT S L SRR RS D, T ERBROBEYEMIR LI HEZIEETS S
EMTE D,
(1) BHom
@1 lim ¥n =1

100 AN=N"(1/N) EITHR

110 PRINT AN N =100 1.047128558158875
N =500 1.012506723403931
N =:1000 1.006931662559509
N =5000 1.001704931259155
N =10000 1.000921487808228

Al LizoNT ¥ O liid Newton JHZ L o T L TRIDK DY TH B,

fla)y=xr—n, f/{x)=nzr-1, 2y=2, xj:xj—l—':;;('%%)" (j=1,2,3,--) L LT\ %,

E

100 DIM X(100) B
110 X(0)=2

120 FOR J=1 TO 100

130 X(D=XJ-D-(X(J-1"N-N)/(N*X(J-1)~(N-1))
140 NEXT J

150 PRINT X(100)

1
1.379729661461215
1.258925411794167
1.081382656800293
1.0471285480509
1.043657780939918
1.040702290439091
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CoEE, X(0) Ofific k- CHETX 5 N O Ris s, iz X(0)=10 L35 L N=37), Icx N MR E M
(24 N=100) & 7c % L %, J=80 &EEL Lig\ & ¥ u DL WEAELRI,

S 1 1
{12, lim (2""2}!—""3-!—4‘“'4‘ f!—) =e

n
RO R A SIS E, HaiL83! FTLAHTE RV, ST, ThTi JWEMERHLR TS,

100 FOR N=1 TO 33 STEP 5 JEFFREY Mok
110 S-1 =3 2. 666666666666667 (< 10°=1 )
120 FOR J-1 TO N N= 8 2.71827876984127 ( < 10°=5 )
ORI N= 13 2.718281828446759 ( < 10°=10)
130 GOSUB +FACTORIAL N= 18 2.718281828459045 ( < 10°—15)
140 S=8+1/T N= 23 2.718281828459045 ( < 107-15)
150 NEXT J N= 28 2,718281828459045 ( < 10°=15)
160 PRINT S N= 33 2.718281828459045 ( < 10°=-15)
170 NEXT N
180 °
190 END
200 °
210 +FACTORIAL
220 T-1
230 FOR K=1TO J
240 T=T*K
250 NEXT K
260 RETURN
, 11 1y
o Jim (1 3 d) e
100 S-=0 EfTER
110 FOR K=1 TO N N= 10 2.,928968253968254
120 S- S+1/K N= 50 4.499205338329425
ST K N= 100 5,18737751763962
130 NE N= 500 6.792823429990524
140 PRINT S N= 1000 7.485470860550344
N= 5000 9.094508852984434

C OEFRERTE, CORFINERKIC RS L R EEAD 2 LQTERVD, KOWIC X > THEKT 2 55
{log n} L O THRDZENTE Do

1 1 1
1+ *2—+§+'~-+ w

b 4. ,}Lrg T logn =1

100 S-0 EITRER
110 FOR K-1 TO N N= 10 1.272034732703779
120 S= S+1/K N= 50 1.150096902531462
; N= 100 1.126424700087553
130 NXET K N= 500 1.093041301984204
140 T= S/LOG(N) N= 1000 1.083632881346722
150 PRINT T N= 5000 1.067782428226576
N= 10000 1.06267580836714
N= 50000 1.053349105988582

(E) 13 £ BT lim (1% 45— FooH( 101 L) = log 2 oIuiREE AT <
)

(log 2=0.693147180559945--



N= 10
N= 50
N= 100
N= 500
N= 1000
N= 5000

5. lim¥al =

n—0

RS OWT L 8 & kT Vol 2B BT 5 -

EoT hm J:-f» =e¢ il T 5, Itk "‘/—— \/il— \/71“

100 T=1 EITRER
110 FOR K=1 TO N-1 = 10 2.20812507272605
130 NEXT K = 500 . 69648227877727
140 PRINT T = 1000 2.706421251871661
= 5000 2.715465072021249
N= 10000 2.716770786445022

.6456349206349206
.6832471605759182
.6881721793101952
.6921481805579452
.6926474305598202
.6930471905599449

REO-BBHEICET D

e e Na e
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(8% ~oBFHERFERORS

100—1 )
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WHFZCE > TEDPR VR E 2 B LDTH B, 8- TRMAERIET

Tekh ng BRLTRHONLVERbRS, FARERENIHL V0T, HFREFIClEEL S 2 Likikir

B\,

6. an= 1+

CORAER LT E R p ok X, M<nTHDHE ST n iz LTz

-‘1—10_0)7_‘—5 nEkxE hman-5

lan—5|<E » 7% [1RB M Ak

100 DIM A(200) YEATHG UL

110 FOR N=1 TO 200 E=1 M=100
120 A(ND=1/(1+(N-100)"2)+5 E=0.1 M=103
20 NEXT N E =0.01 M =109

130 N E =0.001 M=131
140 INPUT E E =0.0001

150 IF A(200)¢=5-E OR 5+E(=A(200) THEN GOTO +EXIT (azo FTILIE M 23R ¥
160 K=1:GOTO *SEARCHI1 Hig\)

170’
180 *EXIT
190 END
200 °

210 +SEARCH1

FOR J=K TO 200
IF 5-ECA(J) AND A(J){5+E THEN M=J:GOSUB *SEARCH?2
IF FLAG=1 THEN PRINT 7¢”;E,”M=";M-1;:GOTO +EXIT

220
230
240

250 NEXT J

260 RETURN

270’
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280 +SEARCH2

290 FOR P= M+1 TO 200

300 IF A(P){=5-E OR 5+E<{=A(P) THEN K=P:GOTO +«SEARCHI1
310 NEXT P

320 FLAG=1

330 RETURN

—c limag=a febiE lim ARG S gy, SRR P S Temno ik 125> T E
n-—oco n—c0
h, lim —”Hi;;{‘vji =0 fe & b I B S S O B e b R B, FSTHAMIE I & & L e B
n—

2 Tng kD Z L MNERE LD,

1 1
T 4k oo
7. lim —= =0
n—oo n

413\ T log 2 U O i & 5\ Fo BUIGT IS & B SHTAS UL

N= 10 .292896825396825-1

N= 50 .0899841067665885

N= 100 .0518737751763962

N= 500 .01358564685998105
N= 1000 7.4854708605503441)-03
N= 5000 1.8189017705968871>-03
N= 10000 9.787606036044386 ) -04
N= 50000 2.279400789855693 D -04

e BB T g b B & LIE (4 & 6 D program # AL HAUE KU, JHTREULNE e=01 DL & no=43, <=
007 D& X ng=68, ¢=005D& X 1p=104, ¢=003 D& X rny=195
(3) PABOMIRE, Mo FRE
B OB EC DUV T, 77 7 & B oM H bR T 00l v e lbhd,
f8. lim ST 1
z—0 £
(737 7) FATRESR
100 A=300:B=200:S=25
110 PAI= 3.141592
120 FOR T=-3*PAI TO 3«PAI STEP .01 I
130 IF -.001{T AND T<.001 THEN T=.001 S = 5
140 X=S+T+A
150 Y=-S#1/T+SIN(T)+B
160 PSET (X,Y) |
170 NEXT T

(Bfiliat53) JATREM
100 X= 1#/K X= (K=1) .8414709848078964
110 Y= SIN(X)/X X= .5 (K=2) .9588510772084059
, v X= .1 (K=10) .9983341664682814
120 PRINT ¥ X= .05 (K= 20) .9995833854135661
X= .01 ( K= 100) .9999833334166663
X= .005 ( K= 200) .9999958333385415

w9, flr)= o (x#0), £(0)=0 ORIHD w=0 i 1513 L e Aifr AL
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(75 7) JETRE UL
100 A=300:B=200:S=50
110 FOR T=-3 TO 3 STEP .01
120 [F -,012¢T AND T¢.012 THEN T=.012
130 X=S+T+A | //
140 Y=-S«T+EXP(1/T)/(1+EXP(1/T))+B e
150  PSET (X,Y) -
160 NEXT T T '
-
BUFE5T) FITHET:
100 DEF FNA(X)=X+EXP(1/X)/(1+EXP(1/X)) JE s g Tt R
110 FOR N=1 TO 16 STEP 3 .2689414213699951 .7310585786300049
120 H=1#/N .01798620996209156 .9820137900379084
ot
140  PRINT FNA(H)/H 2.260324297903575D -06 .9999977396757021
150 NEXT N 1.12535162055095D-07 .9999998874648379
) WP D Te—d k] Tewbr Torfda i,
110, f(2) = -ﬂ};z—— D z=1Z 805 Mgt
100 DEF FNA(X)=1/(1+X"2) FFTRE S
110 INPUT ”1 7+ u v=";E {7vuyv=702
120 IF FNA(1+1/1000){FNA(1)-E OR FNA(1)+E(FNA(1+1/1000) OR  d = .3333333333333333
FNA(1-1/1000){FNA(1)-E OR FNA(1)+E(FNA(1-1/1000) 4Fvay=70.01
THEN GOTO +EXIT d = .0196078431372549
130 K=1:GOTO *SEARCHI1

4 7vyuoy=70.05

140 7 d = .09090909090909091
150 +EXIT

160 END 47vmy=10.005

170 * d = 9.900990099009901 D03

180 *SEARCHI

190 FOR T=K TO 1000

200 IF FNA(1)-E(FNA(1+1/T) AND FNA(1+1/T){FNA(D+E
AND FNA(1)-EC¢FNA(1-1/T) AND FNA(1-1/T)
(FNA(+E THEN N-T:GOSUB *SEARCH2

210  IF FLAG=1 THEN PRINT "d=";1¢/N:GOTO *EXIT

220 NEXT T

230 RETURN

240

250 *SEARCH?2

260 FOR J-N+1 TO 1000

270 IF FNA(D)-E)FNA(1+1/]) OR FNA(1+1/1)FNA(1)+E
OR FNA(1)-E)FNA(1-1/J) OR FNA(1-1/D))FNA(1)+E
THEN K=J:GOTO *SEARCH1

280 NEXT J

290 FLAG-=1

300 RETURN
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ik WEeWmA (2

(6) MHEIFUZ B\ T xn—a D& X flan)—fla) 225 &,

WL f@)= e

(@=1)

100 DEF FNA(X)=1/(1+X"2)
110 PRINT ABS(FNA(1+1/T)-FNA(L)),
120 PRINT ABS(FNA(1-1/T)-FNA(1))

FTHS

T=

7

5

1-1/ 5

T=

10

1-1/ 10

T=

1-1/ 50

T=

1-1/ 100

50

100

6) BoyoiE
Yy 7y v DERX, KOREE, AVAROLE Y LTH%,

| e
% 12. SO\/l—ﬂ de="

(v 7V vDRR)

100 DEF FNA(X)=SQR(1-X"2)

110 TU=0:TV=0

120 FOR J=2 TO 2+N-2 STEP 2

(KorkBEE: 1)

110 S=0
120 FOR J=0 TO N-1

100 DEF FNA(X)=SQR(1-X"2)

.1097561120986938 1+1/ 5 .0901639461517334
.05248618125915527 1+1/ 10 .04751130938529968
.01010000705718994 1+1/ 50 9.900033473968506 D-03

5.024969577789307D-03 1+1/ 100 4.974991083145142D-03

130 TU=TU+FNA(1%/(2«N)*]) 130 S=S+FNA (1#/N=J)/N

140 NEXT J 140 NEXT J

150 FOR J=1 TO 2xN-1 STEP 2 150 PRINT S

160  TV=TV+FNA(1#/(2+N)+])

170 NEXT J

180 S=1#/(6+N)+(1+2+TU+4+TV)

190 PRINT S

(53 ks 1) (AR

100 DEF FNA(X)=SQR(1-X"2) 100 DEF FNA(X)=SQR(1-X"2)

110 S=0 110 S=0

120 FOR J=1 TO N 120 FOR J=1 TO N

130 S=S+FNA(1#/N+J)/N 130 S=S+(FNA(1#/N+(J-1))+FNA(1%/N+1))/2+(1#/N)

140 NEXT ] 140 NEXT J

150 PRINT S 150 PRINT S

TR

g oA 50 45 4 | 100 %5 /5 | 500 %5
PR A /N , N=25 ,785073143641154 J N=50 .7852833013733228 | N =250 .7853878915309906
Koakiisl 1 N =50 .7945671239867806 | N =100 .7901042546145618 | N =500 .7863718659646111
RaokBE®EI N=50 .7745671244338155 “ N =100 .7801042548380792 | N =500 .7843718658696162
B o o X J N =50 .7845671387016773 | N =100 .7851042704284191 | N =500 .7853718805536628

T

= 0.785398163397748- -
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(7) Maclaurin JEBRIC L% 275 7
x

. . x 5 zn
13, sinx=x— 3T - BT — e (—1)ne @;m

100 PAT- 3.14159

110 A= 300:B=200:S-50

120 INPUT ”X 7 =9 2N+1 , N /7 v 54
130 DIM P(N):DIM Q(N)
110 GOSUB «FACTORIAL
150 GOSUB *GRAPHSIN
160 GOSUB *GRAPHX
170 GOSUB *GRAPH

180 ’

190 END

200 ’

210 *)FACTORIAL

220 FOR J=1 TO N

230 Q=1

240  FOR K=1 TO 2+J+1
250 Q=-0+K

260  NEXT K

2710 QD=0

280 NEXT ]

290 RETURN

300

310 *GRAPHSIN

320 FOR T=-PAI TO PAI STEP .01
330  X=S+T+A

340 Y=-S+SIN(T)+B

350  PSET (X,Y)

360 NEXT T

370 RETURN

380 °

390 *GRAPHX

400 FOR T=-PAT TO PAI STEP .05
410 X=S«T+A

420 Y=-S«T+B

430 PSET (X,Y)

440 NEXT T

450 RETURN

460 °

470 xGRAPH

480 FOR M-1 TO N

490  FOR T=-PAI TO PAI STEP .05
500 P(0)-T

(N>=1) N=";N

AT
N=3 D% &

157
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510 FOR J=1 TO M
520 P(D=P(J-D)+(-1)"J=(T(2x]+1))/Q(J)
530 NEXT ]
540 X=S«T+A
550 Y=-SxP(M)+B
560 PSET (X,Y)
570 NEXT T
580 NEXT M
590 RETURN
(8) Fourier #HEMANIZLB 777

sin 2z sin 3x

P14, 5 = sinz— S0 4 SRS (e SR

n

(—r<x<x)

100 PAI-3.14159

110 A=300:B=200:S=50

120 INPUT "N 7 ¢+ 54 (N)=1) N=";N
130 DIM P(N) FATHE YL

140 GOSUB *GRAPHX2 N=3 o84
150 GOSUB *GRAPHSIN
160 GOSUB *GRAPH
170 *

180 END

190 °

200 *GRAPHX2

210 FOR T=-PAI TO PAI STEP .01
220 X=S*T+A

230 Y=-S+T/2+B

240 PSET (X,Y)

250 NEXT T

260 RETURN

270

280 *GRAPHSIN

200 FOR T=-PAI TO PAI STEP .05
300 X=S+T+A

310 Y=-S+SIN(T)+B

320 PSET (X,Y)

330 NEXT T

340 RETURN

350

360 «GRAPH

370 FOR M=2 TO N

380 FOR T=-PAI TO PAI STEP .05
390 P(1)=SIN(T)

400 FOR J=2 TO M

410 P(D=PJ-1)+(-1)"(J-1)+SIN(J*T)/J
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420 NEXT ]

430 X=S+T+A

440 Y=-S+P(M)+B
450 PSET (X,Y)
460 NEXT T

470 NEXT M

480 RETURN

§3. EHFEHMORR

[a, 11z f(2)=0 D ERABH D 2 & Mo T BHE, f(2—0001)-f(2)<0 L7eh z NHDhb, 24z, f(2)
& (x—0.001, f(x—0.001) #H5.Sifk e x fiid DMK, RODEROELHE T D, 7300013 D5 &PhEVE
DHMEDTH DA, FITEEXZEETILZORENSELTHS 5,
(1) ehiEfEDER

W15 fla)=a3—2 1220 T, f(—2)=—6, f(2)=6, ZDL X f(@)=1 L5 zhKDB,

100 DEF FNA(X)=X"3-X-1

110 A=-2:B=2

120 FOR X=A TO B STEP .001

130 IF FNA(X)=0 THEN PRINT X:GOTO +EXIT

140 IF FNA(X-.001)*FNA(X){0 THEN R=.001+FNA(X)/(FNA(X-.001)-FNA(X))+X
150 IF FNA(X-.001)*xFNA(X)(0 THEN PRINT R:GOTO *EXIT

160 NEXT X

170’

180 +EXIT

190 END

ST
R =1.32471776008606

(#2%) print 1.32471776008606"3-1.32471776008606
.999999159190716

(2) FfEOER

16, f(a)=23—22 20T J7(@)=322-2, ZDL & ’f@&?;li(ll =f"(x) LD x &RD D,
100 DEF FNA(X)=X"3-2+X:DEF FND(X)=3+X"2-2 EITHRER
110 A=1:B=3 R =2.081665992736816
120 DEF FNH(X)=FND(X)-(FNA(B)-FNA(A))/(B-A) (%) print (FNA(3)-FNA(1))/2
130 FOR X=A TO B STEP .001 11.00000095367432
(LIF@I15 & @K print  FND(2.081665992736816)

11

(3) Cauchy O FH{finEFL

W17, fla)=a3—2x, glx)=4x2+x D+ X f'(x)=322-2, ¢’(x)=8z+1. ZDL X {;g;:{;gg = J;:Eﬁ T

T xHRDD,

100 DEF FNF(X)=X"3-2+X:DEF FNG(X)=4+X"2+X
110 DEF FNFD(X)=3*X"2-2:DEF FNGD(X)=8+X+1
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120 A=1:B=3
130 DEF FNFGD(X)=FNFD(X)/FNGD(X)-(FNF(B)-FNF(A))/(FNG(B)-FNG(A))
140 FOR X=A TO B STEP .001
(LAF 6115 & A4
ETRER

R =2.138159548592676
(&%) print (FNF(3)-FNF(1))/(FNG(3)-FNG(1))

.647058879627901

print FNFD(2.138159548592676)/FNGD(2.138159548592676 )
.6470588669078637

4) FHreBT o2 PEEOER
1
#18. flx)=41—22 0£z=<1) iz DWT &f(x) dz=f€) L1725 § HRD D, FEHZ OO TILHI 12 R BM)

100 N=250 R =.6190038919448853

110 DEF FNA(X)=SQR(1-X"2) (%) print S

120 GOSUB +SIMPSON :* EXAMPLE 12 .7853878861566385

130 DEF FNB(X)=FNA(X)-S :’ S 145 Dfé print SQR(1-0.6190038919448853"2)
(LAF 15 & [FEE) .7853879180106381

§4. 33 - 77
(1) EFWZ X% 4 RITFIROFE
480 *CALC4
490 FOR I1=1 TO N : FOR J=1 TO N
510 IF J=I THEN GOTO #BRK]J
520 FOR K=1 TO N

530 IF K=I OR K=] THEN GOTO #+BRKK
540 FOR L-1 TO N
550 IF L=I OR L=J] OR L=K THEN GOTO *BRKL
560 IF (L-D#(L-D*(L-K)*(K-D+(K-D*(J-1)0 THEN SG=1 ELSE SG=-1
570 SUM=SUM+SG+A(1,D*A(2, D*A(3, K)+A(4,L.)
580 *BRKL : NEXT L
590 *BRKK : NEXT K
600 *BRKJ : NEXT J : NEXT I
620 RETURN
T, TAIROER X TO T LIzl Lt/ d,
RUN
2 5 —4 3
-2 3 5 4

the time needed = 0
2) HAETEBC L2 4 RGFIROE
SETEHO 70 75 238V EMRLL, HELEHRTIZLDEZNEEL LDV, ERTL DT
ROFTEXTEI VLB,
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410 FOR S=1 TO 4

420 GOSUB *DETERMS3 : DETERM=DETERM+(-1)"(N+S)*A(4,3)*AA(S)

440 NEXT S
480 °
560 +DETERM3 : RETURN
RUN
1 3 -2 4
1 3 5 -7 5
2 7 1 2
—2 —6 7 -8
=-93

the time needed = 2
@) FHNOEDEH
707 ADEMKT
370 xCALCAB
380 FOR J=1 TO P : FOR K=1 TO R

400 FOR S-1 TO Q
410 C(J,K)=C(J,K)+A(J,S)*B(S, K)
420 NEXT S
430 NEXT K : NEXT J
450 RETURN
LEHTH DY, TR FRTTHORSVER TS S, BRI
RUN
125 41 65 34 15
[ 51  —72 34 64 ] 343
33 25 34 48 [ _fg

—24041 7560 —2134
10640 —4793 —1490

@) ARITINORIN 117 & B FTFIDH
BT Ak DI
1260 *GETAXY

[ 13803 —6932 8284 ]

1280 FOR X=1 TO N : FOR Y=1 TO N : FOR S=1 TO N : FOR T-1 TO N

—42
—37
47
85

18

—54
26

1320 IF S¢<X AND T{Y THEN D(S,T)=A(S, T)

1330 I S¢<X AND T)Y THEN D(S,T-1)-A(S,T)
1340 IF S$)X AND TCY THEN D(S-1,T)=A(S,T)
1350 IF $)X AND T)Y THEN D(S-1,T-1)=A(S,T)
1360 NEXT T : NEXT $

1370 GOSUB *CALC : AA(X,Y)=(-1)~(X+Y)*DETXY
1390 NEXT Y

1400 DETA=DETA+A(1,X)*AA(1,X)

1410 NEXT X
1420 RETURN
IO LA D 12T TH 2,
RUN

161



162

4)

wE W-BA

Cofactor Matrix

- 70 —52 —32 —66
84 —66 —42 T2
50 —32 —28  —42
L —88 70 50 84
Inverse Matrix
F1 2 3 4 1-1 70 -52 —32  —66
2 -3 4 1 84 66 —42 -T2
4 1 -2 3 [/ 38 50 32 —28  —42
| 3 4 1 2 —88 70 50 84
BEAL - BT

R DT DEATIG 2 CRBATIIRF B BBOBETIRD k5 fohDTHE Lz, H151056 0 Tl K%
BRL, BETIIFOFYE 1TELRLFOVOTFTIMET HFIOEREY 02T 2, b LIFEL U2 ¥
OB D, chick V8 1B AW TE S, [MEAREXYRIEL T jzr, k2r 6% (, k) #ERAFANTOIZ
e IUTPEERTINESER L, fTHIDREBL %,

PR AN

1360 FOR P-1 TO M

1370 GOSUB *SEARCHPIPOT

1380 IF FLG=0 THEN GOTO *EXIT ELSE GOSUB *EXCHROW : GOSUB +CALC
1400 NEXT P

1410 ’

1420 *EXIT : PRINT : PRINT "f75|0oM%03”; AKCNVS(STR$(RANK)) : END

EFfER

1 0 0 4 6 8
2 0 3 5 7 9
3 0 1 3 5 7
4 0 0 0 —6 —12
Ok ? Hit Any-key (Ret-key) :
Devide line 1 by 2
1 0 0 2 3 4
2 0 3 5 7 9
3 0 1 3 5 7
4 0 0 0 —6 —12
Ok ? Hit Any-key (Ret-key) :
Devide line 4 by 6
107 0 0 2 3 4
2 0 3 5 7 9
3 0 1 3 5 7
4l 0 0 0 -1 )
Ok ? Hit Any-key (Ret-key) :
Exchange line 1 for line 2
21 0 3 5 7 9
1 0 0 2 3 4
3 0 1 3 5 7
4] 0 0 0 ~1 —2
Ok ? Hit Any-key (Ret-key) :
3ol
2 0 3 5 7 9
1 0 0 2 3 4
3 0 0 1 2 3
4 0 0 0 —1 -2
Ok ? Hit Any-key (Ret-key) :

261
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[#%] ~0BETHERERORL

KEO—RHEBZ BT D
2 0 3 5 7 9
1 0 0 2 3 4
3 0 0 0 1 2
4 0 0 0 -1 -2
Ok ? Hit Any-key (Ret-key) :
1 -1
2 0 3 5 7 9
1 0 0 2 3 4
3 0 0 0 1 2
4 0 0 0 0 0
Ok ? Hit Any-key (Ret-key) :

oL 3
(5) M 1 KT DA KD B,
ERBATIIC X U TR B IS D e T X v

[ 0 0 4 8 ] X1 7 7
0 0 0 0 X2 0
0 4 5 9 X3 —6
| 5 -2 -3 -6 ] | X4 | 8 |
Exchange line 1 for line 4
[ 5 —2 -3 —-67 [ X1 8
0 0 0 0 X2 0
0 4 5 9 X3 —6
] 0 0 4 8] | x4 7 ]
Exchange line 2 for line 3
[ 5 ) -3 —671 [ XL° 8
0 4 5 9 X2 —6
0 0 0 0 X3 0
i 0 0 4 81 | X4 7 |
(2,2) « (1,2)
[ 10 0 —1 —37 [ X17 10 ]
0 4 5 9 X2 —6
0 0 0 0 X3 0
| 0 0 4 8| | x4 | 7 |
Exchange line 3 for line 4
[ 10 0 -1 -3 71 [ X117 10 T
0 4 5 9 X2 —6
0 0 4 8 X3 7
I 0 0 0 o] [ x4] 0 |
3,3) < (1,3)
[ 40 0 0 —47 [ X17 47 7
0 4 5 9 X2 —6
0 0 4 8 X3 7
| 0 0 0 o] [ x4 0 |
(3,3) « (2,3)
[ 40 0 0 -4 7 [ X171 47 7
0 16 0 —4 X2 —59
0 0 4 8 X3 7
| 0 0 0 o] | x4 0
Independent variables : X4
X1 = ( 47/40) + ( 1/10)% ¢t
X2 = ( —59/16) + ( 1/4)+t
X3 = ( 7/4) + ( —2 )t
X4 = ( 0) + ( 1 d*t
6) 7u s 7 LD
T, bhbhORGi-7 e 7 7 aohnbR3EE LTHET 1 RABKOMEY KD B DERT,

MOLTRBEETH » 7o, RITRERT
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1000 ’ progl6.BAS”,A " v 1 KGERDOM

1010 °

1020 CLS : CONSOLE 0,24,0,1

1030 N=4 : DIM A(N,N+1),C(N+1), CA$(N, N+1), NN$(N), SOL$(N)
1040 °

1050 DATA o0, 0, 4, 8,
1060 DATA 0, 0, 0, O,
1070 DATA 0, 4, 5, 9, -6
1080 DATA 5, -2, -3, 6, 8
1090 ’

1100 DATA 1, 1, 1, 3, 3
1110 DATA 1, -1, -5, -1, -5
1120 DATA 3, 1, -3, 5,
1130 DATA 5, 1, -7, 7, -1
1140’

1150 DATA 1, 2, 3, 2, 3
1160 DATA 2, 4, 6, 3, 2
1170 DATA 3, 6, 13, 8, 2
1180 DATA 4, 8, 8, 7,23
1190 °

1200 DATA 0, 0, 0, 0, O
1210 DATA 0, 0, 0, 0, O
1220 DATA 0, 0, 0, 0, O
1230 DATA 0, 0, 0, 0, O
1240 °

1250 RESTORE 1050 ' DATA #%x5: XX OTOESEEZ D,
1260 FOR J=1 TO N : FOR K=1 TO N+1 : READ JK : A(J,K)=JK : NEXT K : NEXT J
1270 GOSUB «DISPLAY
1280 FOR JK=1 TO N ;> check common divisor
1290 FOR KJ=1 TO N+1 : C(KD=AJK,KJ) : NEXT KJ : GOSUB *GCDARREY
1300 FOR KJ=1 TO N+1 : A(JK,KJ)=C(KJ) : NEXT KJ
1310 IF GCDO1 THEN COLOR 6 : PRINT ”Devide line”;JK;”by”; GCD :
COLOR 7 : GOSUDB *DISPLAY
1320 NEXT JK
1330 °
1340 ’ Main Routine
1350 FOR P=1 TO N
1360 GOSUB *SEARCHNONZERO
1370 IF FLGC=N+1 THEN PRINT *##7:1” : END
1380 1F FLG=0 THEN GOTOQO *EXIT
1390 GOSUB *EXCHANGE : GOSUB *ELEMENTTRANSFORM
1400 NEXT P
1410 °
1420 *EXIT : GOSUB *DISPSOLUTION : END
1430 ’
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1440 *SEARCHNONZERO 2 sk

1450 FLG=0 : RANK=0

1460 FOR K=P TO N+1

1470 FOR J=P TO N

1480 IF A(J,K)O0 THEN FLGR=J:FLGC=K:FLG=1:RANK=RANK+1: GOTO *BRK1

1490 NEXT J

1500 NEXT K

1510 *BRK1

1520 RETURN

1530 ’

1540 *EXCHANGE 2 fTORR

1550 FOR K=1 TO N+l

1560 SWAP A(P,K),A(FLGR,K)

1570 NEXT K

1580 I A(P,FLGC)()A(FLGR,FLGC) THEN COLOR 6 : PRINT "Exchange line”;P;
"for line”;FLGR : COLOR 7 : GOSUB *DISPLAY

1590 RETURN

1600 *

1610 +ELEMENTTRANSFORM 2 FARET
1620 FOR R=1 TO N

1630 IF R=P THEN GOTO #BRK2

1640 AA=A(P,FLGC) : BB=A(R,FLGC)

1650 IF BB=0 THEN GOTO *BRK2

1660 COLOR 6 : PRINT ” (”;P;”,”;FLGC;”) (--> (";R;”,”;FLGC;”)” : COLOR 7
1670 GOSUB *GCDTWO

1680 FOR K=1 TO N+1 : A(R,K)=AA*A(R,K)-BB*A(P,K) : NEXT K

1690 FOR K=1 TO N+1 : C(K)=A(R,K) : NEXT K

1700 GOSUB *GCDARREY

1710 FOR K=1 TO N+1 : A(R,K)=C(K) : NEXT K

1720 GOSUB *DISPLAY

1730 *BRK2

1740 NEXT R

1750 RETURN

1760 ’

1770 *GCDTWO 2 2oy
1780 IF AA-0 OR BB=0 THEN GCD=1 : GOTO *BRK3

1790 GAA-ABS(AA) : GBB=ABS(BB)

1800 IF GAA(=GBB THEN SWAP GAA,GBB

1810 +LOOPF : GRR=GAA-(GAA ¥ GBB)*GBB

1820 IF GRR=0 THEN GCD=GBB : GOTO *BRK3

1830 IF GRRO0 THEN GAA=GBB:GBB=GRR : GOTO *LOOPF

1840 +BRK3

1850 IF GCD=0 THEN GCD=1

1860 BB=BB/GCD : AA=AA/GCD

1870 RETURN
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1880 ’

1890 *GCDARREY Ay
1900 GCD=0

1910 FOR J=1 TO N+1

1920 IF C(J)>0 THEN GCD=C(J) : GOTO *BRK4

1930 NEXT J

1940 *BRK4

1950 IF GCD=0 THEN GCD-=1 : RETURN
1960 FOR K=1 TO N+1

1970 GAA=GCD:GBB=ABS(C(K))

1980 IF GBB=0 THEN GCD=GAA : GOTO *BRK5

1990 IF GAA{=GBB THEN SWAP GAA,GBB

2000 *LOOPS : GRR=GAA-(GAA ¥ GBB)*GBB

2010 IF GRR=0 THEN GCD=GBB : GOTO =«BRK5

20290 I[F GRR{(0 THEN GAA=GBB:GBB=GRR : GOTO «LOOPS

2030 *BRK5

2040 NEXT K

2050 FOR K=1 TO N+1 : C(K)=C(K)/GCD : NEXT K

2060 RETURN

2070 *

2080 +DISPSOLUTION o LYE )
2090 FOR J-1 TO N

2100 FOR K-1 TO N+1

2110 CAS$(J,K)=RIGHT$(STR$(A(J,K)),LEN(STRS(A(J, K))))
2120 NEXT K

2130 NEXT J

2140 FOR K-1 TO N

2150 CA$(0, K)-RIGHT$(STR$(K),1) : A(0,K)-K

2160 NEXT K

2170 FOR S=1 TO RANK

2180 FOR T-=1 TO N

2190 IF A(S,T){)0 THEN PPV=T : GOTO *BRK6

2200 NEXT T

2210 *BRK6

2220 FOR K=PPV TO S+1 STEP -1

2230 FOR J=0 TO N

2240 SWAP CA$(J,K),CA$(J,K-1) : SWAP A(J,K),A(J,K-1)
2250 NEXT J

2260 NEXT K
2270 NEXT S

2280 COLOR 6 : PRINT ” Independent variables : ” ;: COLOR 7

2290 FOR K=RANK+1 TO N

2300 IF KN THEN COLOR 5 : PRINT ” X”;CA$(0,K);” , ” :: COLOR 7
2310 IF K=N THEN COLOR 5 : PRINT ” X”:CA$(0,K) :: COLOR 7

2320 NEXT K



2330
2340
2350
2360
2370
2380
2390
2400
2410
2420
2430
2440
2450
2460
2470
2480
2490
2500
2510
2520
2530
2540
2550
2560
2570
2580
2590
2600
2610
2620
2630
2640
2650
2660
2670
2680
2690
2700
2710
2720
2730
2740
2750
2760
2770

REO—-BREEB-HTS [HF] ~OBRTFHERFERORAZ

PRINT
FOR J=1 TO N

AA=A(J,]):BB=A(J,N+1) : GOSUB *SOLUTION : CA$(J,N+1)=C$

FOR K=1 TO N

AA=A(],]):BB=-A(J,K) : GOSUB *SOLUTION: CA$(J,K)=C$

NEXT K
NEXT J
FOR J=1 TO N
GOSUB *INDEPVARIABLE

SOL$())="X"+CAS$(0,])+"= ("+CA$(J,N+1)+")"+SUM$

NEXT J
PRINT

FOR K=1 TO N 2" FOR K=1 TO N : PRINT SOL$(K) : NEXT K

FOR J-:1 TO N
1F K=A(0,]) THEN PRINT SOLS$())
NEXT J
NEXT K
PRINT
RETURN
*INDEPVARIABLE
SUM$=""
FOR K=RANK+1 TO N
IF J=K THEN CA$(J,K)=" 1”

SUM$=-SUMS$+” + ("+CA$(J,K)+")xt”+NNS(K-RANK)

NEXT K

RETURN

*SOLUTION
GOSUB *GCDTWO
AA$=STR$(AA) : BB$=STR$(BB)

AA$-RIGHT3(AAS,LEN(AAS$)-1) : BB$-RIGHTS$(BB$, LEN(BB$)-1)
IF AA*BB)0 AND (AA{1 OR AA{)-1) THEN C$-BB$+”/”+AA$
IF AA*BB)0 AND (AA=1 OR AA=-1) THEN C$=BB$+”

IF AA+BB=0 THEN C8=" 0 ”

IF AA*BB{0 AND (AA{1 OR AA{-1) THEN C$="-"+BB$+”/"+AAS$

IF AA*BB{0 AND (AA=1 OR AA=-1) THEN C8$="-"+BB$+” ”

C$-RIGHTS(” "+C$,8)
RETURN
+DISPLAY
PRINT ” -”;SPC(7+N);™ ”;SPC(2);™
FOR J=1 TO N
PRINT " | " ;
FOR K-1 TO N

[—”;SPC(7) ; n__' ”»

D F—20FEE
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1)

3)

at

”+STR$(A(J,N+1)),7);
"+STR$(A(L,N+1)),7);” |

R DORFER L ok M58 E3H.
HIZBBERRALE 8107 8 82 HEREFERHE
HAEENRE.

ISEF e - PE)IERAT - BARK 1985, BB BFE
2~ & B EFEri - [avie.—2%
LR 122-132, P AR AL,

You And Your Students, Prepared by a Faculty
Commitee at the Massachusetts Institute of

IDE #HRH 5 44 45 1980

Technology.

W - BA £
2780 PRINT RIGHTS$(” ”"+STR$(AT, KN, D ;
2790 NEXT K
2800 PRINT ” | ”;
2810 PRINT ” | X”;RIGHTS$(” "+STR$(]),1);” | ” ;
2820 IF J=INT((N+1)/2) THEN PRINT ”= | ”;RIGHTS$(”
” | 7 ELSE PRINT ” | ”;RIGHTS$(”
2830 NEXT ]
2840 PRINT ” L”;SPC(7xN);”- L”;SPC(2);”- L”;SPC(7);"-}”
2850 INN$=INPUT$(1) : PRINT
2860 *WAITING : IF INN$="" THEN GOTO *WAITING
2870 RETURN
4)
& £ X B

KHE#HH 1989. %fFEiHEH BASIC,UBASICS6
Ver. 7. 5)
B M M5 45 8. SEERFERSEHRK
AT rrbs KEHEOME. —BREFFERHH3
% B15. 6)
RUHEAL MME2ESH. HFHBE~D Y 2 vl
ADRAE. —REFFLE 9% $H15.

Summary

We considered the practical use of a personal computer in mathematics in the general education

college level.

As a result, we found that in mathematics in general education at college level,

computers are effective for numerical calculations and drawing graphs.
We understand that we can apply computers in mathematical education for general education

at

college level in the future.
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